Imperfect Information in Health Care Markets

Exercise Session 4 - Insurance Demand
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Questions about the lecture



Exercise 4

Consider a person with utility of income u(x) = \/x. Is this person
risk averse? For the following lotteries, compute the expected
income, the certainty equivalent and the risk premium.

a) Probability 1/3 for each 1600, 2500, and 3600 Euros. \/
b) Income is uniformly distributed between 1600 and 2500 Euros.
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Exercise 5

Consider a person with utility of income u(x) = y/x. The person
has an income of 2500 Euros but loses L Euros with probability c.
Determine the certainty equivalent and the risk premium as a
function of o and L. Is the risk premium increasing or decreasing
in L? Is the risk premium increasing or decreasing in o
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Exercise 6

j'u'\( 'b’#k‘
Consider the utility function u(x) = —e‘x". The person has an
income of 1 and experiences a loss of 1 with probability a.. The
coefficient of absolute risk aversion is defined as —u”(x)/u'(x).
Compute this coefficient. Let now o« = 0.5 and check whether the
certainty equivalent in- or decreases in 7.



Exc. 6

dEE =Tt
' ¥ —
urk/:,(_),ue/"t :t{,-z,n*
W)= = y (-q) 27X -yt T
ANLY] _,LLL ol e
_/') U((/?/ =| — _—:’—'L_‘é :%
. 2
£lu) = oo ulo) + &) ult)
= &L - /- 60) £ (A-K) - (- e:"z_) -
U (CE) = Elw)
_w-CE -
= —c = ‘0(—(/{—,()5,%.
= - cE - LalL # 1wl
=D CE =

- Ln (m//—d}e-”i o &= 05

=) W mmud ik aredion /

— K+ M-x)- (- e"L)

(@

— £ (05 ore’™)

/

7



CE depending on 7 for a = 0.5

mcm&'uﬁ n 4
(Hhis 1wgn : lu}lw ik avedion
=D Lsxr CE)

08}

(x from <5.2t0 3.6)

ra



Exercise 7

The Wall Street Journal reported in 2006 of "mini-medical
insurance plans”. These plans cover routine services, but little
hospital coverage and usually have a cap on payouts (say of
$10.000). The premium, however, is only $50 per month. Why
might people buy a mini-medical plan? Why are such insurance
plans not more popular (in a country where a substantial part of
the population did/does not have health insurance)?
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